

$$(f_{3})'(z) = d(f_{3})(z) (1) = (f_{3})'(z) \cdot f'(z) \cdot g'(z)$$

$$(f_{3})'(z) = d(f_{3})(z) (1) = (f_{3})(z) \cdot f(z) \cdot f(z) \cdot f(z) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = d(f_{3})(z) \cdot f(z) \cdot f(z) \cdot f(z) \cdot f(z) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(x) \cdot f(x) \cdot f(z) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(x) \cdot f(x) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(x) \cdot f(z) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(x) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(x) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(x) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(x) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(x) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(z) \cdot f(z) \cdot f(z)$$

$$(f_{3})'(z) = f(x) \cdot f(z)$$

$$(f_{3})'(z) = f(x)$$



